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BT 4 HH 5 £ it
B] i3 3m] ;28 AT 300 369 401 770
AER1TH 1,041 1,192 1,303 2,495
EARI2TH 1,217 1,104 1,437 2,541
A R ET 2,272 2,346 2,588 4,934
BEBRT1TH 524 539 596 1,135
B EET2T H 411 429 475 904
B ERI3TH 312 348 340 688
BEBRT4TH 530 499 538 1,037
B ERTST H 844 928 942 1,870
I ER6TH 360 396 415 811
HiF = HT 540 623 656 1,279
45 KHT 453 528 549 1,077
HHT 1,005 1,138 1,272 2,410
BEHT 59 59 68 127
A K BT 629 739 744 1,483
7 HT 430 448 457 905
RICET 478 518 554 1,072
FORHET 199 210 227 437
RFHT 215 224 254 478
KHET 370 350 401 751
KET1TH 230 255 287 542
XKET3TH 289 342 324 666
XETATH 883 831 1,054 1,885
fit] LLI BT 2,333 2,769 2,866 5,635
JE LT 967 1,113 1,231 2,344
EHERT2TH 299 444 439 883
EHERISTH 429 544 551 1,095
EHERT4TH 362 432 474 906
EHERSTH 336 394 464 858
EHERT6TH 211 278 264 542
EHERT7TH 162 242 243 485
=Y:i 328 353 398 751
8 [F T 1,593 1,495 1,738 3,233
=i ET 504 541 623 1,164
2l 3t BT 474 619 578 1,197
N =15 96 116 123 239
+HEFRT A 653 662 725 1,387
L EFHTER 861 760 872 1,632
L HAET 2115 2,366 2,475 4,841
LFH¥ABT1TH 73 123 121 244
LH¥\ET2TH 156 161 180 341




BT 4 HH 5 £ i
LFEI3TH 150 149 175 324
L¥AET4 T B 155 166 199 365
LFEISTH 210 272 292 564
I == HT 214 219 253 472
JOSFET1TH 542 530 568 1,098
Mn=rET2TH 554 550 570 1,120
JO=fET3TH 421 436 410 846
M=rET4T H 1,106 1,133 1,166 2,299
I S5k T 582 604 669 1,273
I=F5di) 235 224 269 493
Jt B BT 30 39 40 79
E[d:) 424 382 380 762
fHZaE T 798 926 982 1,908
FHRHET 77 90 98 188
1 2 FF T 372 432 468 900
BEFE1TH 84 106 112 218
BEFE2TH 281 336 343 679
T EHT 130 149 150 299
/N BB T 3,076 3,187 3,397 6,584
1R HT 261 295 303 598
YEZF HT 743 761 807 1,568
EXBI1TH 274 247 290 537
=/ LLIHT 235 174 133 307
Hh ek HT 30 30 6 36
T A EHET 10 12 10 22
THHEE1TH 708 678 745 1,423
THHEE2TH 530 582 568 1,150
THHEESTH 753 758 882 1,640
TEHE1TH 193 195 188 383
TEHRI2TH 809 771 889 1,660
TEHRISTH 167 173 180 353
TEHRI4ATH 80 81 87 168
TEHRISTH 237 246 266 512
T HAET 663 707 736 1,443
THET1TH 354 362 368 730
TET2TH 451 452 477 929
TH¥BISTH 199 200 238 438
THABTATH 154 153 180 333
HTAEHET 22 21 9 30
T 195 194 197 391
#8)11 BT 44 47 55 102
KT HT 304 326 353 679

e K HT 1,692 1,762 1,906 3,668
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HEZ HH 5 £ i
FSIED 264 324 322 646
XLAT1TH 866 843 989 1,832
XLAT2T B 307 341 358 699
X#ILET3TH 150 161 169 330
1 [ BT 49 66 80 146
hHET1TH 361 388 420 808
hHET2TH 452 486 532 1,018
hHEI3TH 433 521 530 1,051
niEld:) 253 249 284 533
th 2 JEHT 234 223 260 483
ch T 129 134 167 301
FRAHT 749 878 886 1,764
At A ET 884 927 1,048 1,975
75 K ERET 781 988 1,018 2,006
75 2 [N HET 1,670 1,875 1,997 3,872
A 792 777 887 1,664
SFHEAT1TH 537 471 544 1,015
SFHEAT2TH 405 396 456 852
$FHEAI3TH 207 230 234 464
| BT 426 483 516 999
YHET1T B 371 474 488 962
HET3T B 350 396 432 828
RET4T B 118 113 142 255
J\ & T 987 1,095 1,148 2,243
J\HHT 169 218 223 441
+ A ERT 275 327 363 690
AR 2,231 2,323 2,455 4,778
THB1TH 20 17 18 35
T4HB2TH 1,456 1,396 1,385 2,781
T4HBI3TH 198 182 185 367
THHB4TH 372 311 382 693
T4HHB5TH 952 705 974 1,679
T4HBI6TH 220 238 268 506
THRI7TH 354 393 437 830
T4HBISTH 389 424 434 858
THRBOTH 388 458 516 974
T4B13TH 302 352 386 738
AR NBHT 1,946 1,728 1,995 3,723
HARRHET 1,353 1,271 1,268 2,539
HEARK/ERET 285 378 397 775
HEARICEHT 163 173 185 358
o NEL) 134 124 137 261
Z AR hHET 202 230 263 493
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HEZ HH 5 = 5
FHARAKHET 439 465 501 966
H AR EHT 320 350 389 739
EHARE)IIET 282 276 301 577
e N=TN ] 111 124 137 261
FH AR JTHT 100 95 113 208
EARERHE 664 575 661 1,236
B K BRHET 391 412 409 821
Edsa] 893 917 1,032 1,949
BEFET1TH 766 755 771 1,526
BEIFRI2TH 589 603 686 1,289
BRFEIST H 349 417 418 835
AIFTET1T B 421 378 437 815
AIFTET2T B 588 605 672 1,277
AIFTET3T B 599 709 744 1,453
A HT 188 214 202 416
H_LH 213 277 297 574
NEL] 811 817 889 1,706
ERL 711 901 912 1,813
= HHT 1,734 1,978 2,071 4,049
HLARET1TH 563 644 667 1,311
HETIRET2TH 520 618 655 1,273
HLAREISTH 296 380 376 756
P fx T 320 381 409 790
mLERI1TH 1,163 1,132 1,306 2,438
mERI2TH 838 958 1,072 2,030
FA T 1,335 1,391 1,586 2,977
= RITET 526 515 558 1,073
= AHT 350 285 350 635
AR#HT 10 9 4 13
=) 497 578 531 1,109
SHA1TH 704 646 805 1,451
S HHET2TH 393 434 458 892
aHEI3TH 855 768 935 1,703
S HET4TH 779 668 886 1,554
E& T 1 1 0 1
J\BRET1TH 207 271 268 539
J\BRET2T B 221 239 231 470
J\BRET3T H 238 291 299 590
1T HT 293 435 426 861
FHEIBRT1 TH 136 160 172 332
FHaEIRT2TH 297 427 457 884
FIaTET3T B 11 25 15 40
ENOER1TH 0 0 0 0
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HEZ HH 5 £ it
FEOER2TH 0 0 0 0
EOER3TH 20 19 1 20

=N 88,018 | 93214 | 100948 | 194,162
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